a % a , Beraucnuts IMPOUCHTHI JCCATUYHBIX 3HAKOB

WUms: Jata: ___ Ouenka:___
2,87 x30% = 1,35 x 80% =
7,42 x 30% = 1,38 x 70% =
7,4 % 50% = 7,82 % 80% =
8,72 x40% = 5,42 x70% =
7,56 x 90% = 6,47 x 20% =
6,71 x 10% = 5,96 x 80% =
2,76 x 30% = 8,03 x 60% =
8, 87 x 30% = 4,72 x 40% =
7,43 x20% = 9,92 x 40% =
5,28 x 50% = 1,02 x 60% =
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aRkb SR

Beruncnuts MMPOUCHTHI ACCATUYHBIX 3HAKOB

Nwms:

2,87 x30% = 0.861

7,42 x 30% = 2.226

7,4 x50% = 3.7

8,72 x 40% = 3.488

7,56 x 90% = 6.804

6,71 x 10% = 0.671

2,76 x 30% = 0.828

8,87 x30% = 2.661

7,43 x20% = 1.486

5,28 x 50% = 2.64

[ara:

1,35 x80% = 1.08

1,38 x70% = 0.966

7,82 x 80% = 6.256

5,42 x70% = 3.794

6,47 x20% = 1.294

5,96 x 80% = 4.768

8,03 x 60% = 4.818

4,72 x 40% = 1.888

9,92 x 40% = 3.968

1,02 x60% = 0.612
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Orenka:
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